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N.B. : (1) Question No 1 is compulsory
(2) Attempt any 3 questions out of the remaining.

(3) Assume data wherever necessary and clearly mention the asmlmpb
made,

(4) Draw neat figures as required. (

1. Solve any four from the following D 20
a) Discuss briefly the various techniques used for distribui ‘atgr in the
farms. g
b) What is meant by “Flow duty™ and “Quantity duty”? De

w ve Ortefly factors

affecting duty.

¢) Whatis Precipitation? Explain the various types ofiprégpitation.

d) Differentiate between confined and unconfined dg @ with neat sketch,

¢) Discuss the factors which are considered f c§€lection of site for a
proposed dam.

2. a) Write a short note on irrigation effici2n 6
b) Explain recording type rain gzauge: with etches. 6
¢) Determine the reservoir capaciiyv fof; 8

Command area of 40,000 ha, canallosses = 10% and reservoir losses =1 0%

Base period, outlet factor and i IVOf irrigation are as under:
[Crop Base Pericdgday et [rrigation intensity (7 )
tor(ha/cumecs)

Sugarcane [360 1700 20

Cotton 180 1500 10

Wheat 120 % 1300 20

Rice 1720 700 15

Vegetables l 120 700 15

and by Catchment area and Runoff? Explain the various §
ce the runoff from a catchment area.

b) are the ordinates of 12 hour unit hydrograph 8
0 12 | 24 36 48 60 | 72 |84
“cumecs) | 0 16 29 26 14 7 1.5 |5

$5ive 12 hour rainfall excesses are 1.5 cm. 3.0 om and 0.75 ¢m for
“hment. plot the resulting flood hvdrograph on a graph sheet and
the lag time and flow expected for the river.
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Tevigade Ergy,
Define “*Storage coefficient™ and “Transmissibility™". 4

Write a short note on Reservoir Sedimentation and Explain the methods to
control it.

Explain the various forces acting on gravity dam with neat sketches.
A 60 cm diameter well is being pumped at a rate of 1360 lit/migl
Measurements in the nearby test well were made at the same time as ‘gl
At a distance of 6 m from the well being pumped, the drawdowr
and at 15 m the drawdown was 1.5 m. The bottom of the well is 90
the ground water table. (a) Find out the coefficient of permeagility. (

the observed points were on the dupuit’s curve, what wae ¢ %ﬁwn n

rca

the well during pumping? (¢) what is the rate at which - e drawn

from this well.
What are the causes offailure of Earthen Dam? = &etail with neat ¢

sketches.

A conerete gravity dam has maximum water jeve
top R.L. of dam 309.0 m, d/s face slope starf ABR.
tail water is nil. upstream face of dara is ve @

,bed level 225.0m, ;¢
0.0 m, d/s slope 2:3,
center line of drainage

gallery is 8 m d/s of w/s face, uplift presglire s 100% at the heel, 50 % at the
line of gallery and zero at toe, weigh crete 15 2.4 t/m’. Considering

only weight, water pressure and upli ine (1) Maximum vertical stresses
at toe and heel of the dam, (i/) Mg j

and (1i1) Intensity ot shear st- n'@borizontal plane near the toe.
Write a short note on t‘o.’@ 20

Arch and Buttress I
Cross Drainage work&
Canal Regulation w@rks

Canal Lining an r bgging




